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Practice and Problem Solving: A/B

Identify any excluded values. find the solution.
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Solve each equation algebraically.
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Practice and Problem Solving: C
Identify any excluded values. find the solution.
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Solve each equation algebraically.
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Practice and Problem Solving Modified
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Reading Strategies


1.
a.  
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b.  x  2



c.  Because x  2 makes the denominator of the expression equal to 0.
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d.  x  0, y  0, and z  0
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4.
Multiply the quotient by the divisor. If the quotient is correct, the product will equal the dividend.
Success for English Learners


1.
I can use the Quotient of Powers Property to subtract exponents that are being divided.


2.
When you have a result that has division by 0, it is considered undefined.

LESSON 9-3

Practice and Problem Solving A/B
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x  2
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4.
(x  1)(x  2)
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no solution
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Practice and Problem Solving C


1.
Excluded value
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Practice and Problem Solving Modified
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d. x  1


2.
a. x  1



b. 
[image: image63.wmf]4

10

1

x

+=

+




c. [image: image64.jpg]





d. x  5
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Reading Strategies


1.
x  2


2.
x  0


3.
x  3


4.
x  1, 0, 1


5.
x  0, 2


6.
x  
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7.
a.  x  14; No extraneous solutions



b.  
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c.  x  3; No extraneous solutions
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